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QUESTIONS AND CONCLUSIONS

QUESTIONS 9-10

CONCLUSIONS 

Q1: Drew  felt nervous but overcame it by doing his

  best during the presentation.

 The statement mentions that Daniel studied but 

was still nervous, and although he felt this way, 

he finished confidently, showing he overcame 
his nerves.

SOLUTION IS B

CONCLUSIONS 

Q2: The new system is aimed at making the city more 

eco-friendly and reducing traffic.

 The statement mentions that the new transportation 

system is eco-friendly and intended to reduce 

traffic congestion, which matches option B.
SOLUTION IS B

Read the statement and answer 

the questions below. (1-3)

Q1: 

 

 “Although Drew had studied for weeks, he still felt 

nervous during his presentation, but he did his best 

and managed to finish confidently.” 

 What can we understand from this statement? 

(1 points)

A)  Drew didn’t prepare enough and failed during 

his presentation.

B)  Drew felt nervous but overcame it by doing his 
best during the presentation.

C)  Drew didn’t care about the presentation and 

wasn’t nervous at all.

D)  Drew didn’t study for the presentation and 

couldn’t finish it.

Q2: 

 

 

 “The city has introduced a new public transportation 

system that is eco-friendly and aims to reduce traffic 
congestion.”

 What can we understand from this statement? 

(2 points)

A)  The new transportation system is designed to 

increase traffic in the city.

B)  The new system is aimed at making the city 
more eco-friendly and reducing traffic.

C)  The new transportation system is only             

available for private use.

D)  The city has canceled public transportation 

altogether.
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QUESTIONS AND CONCLUSIONS

CONCLUSIONS 

Q3: Mark used his colleagues’ feedback to improve 

the project and meet the clients’ needs.

 The statement highlights that Mark revised his 

project based on feedback to ensure it would 

meet the clients’ expectations, which matches 

option B.
SOLUTION IS B

CONCLUSIONS 

Q4: To extract valuable resources from the earth.

 The paragraph explains that miners are               

responsible for extracting valuable resources 

like coal, gold, and iron ore.

 

SOLUTION IS B

Q3: 

 

 

 “After receiving feedback from his colleagues, 

Mark decided to revise his project and include 

more details, ensuring it would meet the expec-

tations of his clients.”

 What can we understand from this statement? 

(3 points)

A)  Mark ignored his colleagues’ feedback and 

completed the project without changes.

B)  Mark used his colleagues’ feedback to improve 
the project and meet the clients’ needs.

C)  Mark was satisfied with his project and did not 
make any revisions.

D)  Mark’s clients were unhappy with his work and 

canceled the project

Q4: 

 

 

 Miners have long played an essential role in ext-

racting valuable resources from the earth. The 

process begins with exploration, where they locate 

mineral deposits. Once a suitable site is found, mi-

ners work tirelessly to remove materials like coal, 

gold, and iron ore. Mining can be an extremely 

dangerous profession, with risks such as cave-ins, 

exposure to harmful gases, and accidents. Despite 

the dangers, miners are dedicated to their work, as 

the resources they extract are critical for industries 

worldwide. Mining has evolved over the centuries, 

with advanced machinery and technology now in 

use to improve safety and efficiency. However, it 
remains a physically demanding job that requires 

hard work and perseverance

 What is the primary role of miners? (4 points)

A)  To locate new cities.

B)  To extract valuable resources from the earth.

C)  To create new technologies.

D)  To protect the environment from mining.

Read the text and answer 

the questions. (4-6)
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QUESTIONS AND CONCLUSIONS

CONCLUSIONS 

Q5: Equipment failure

 The paragraph lists cave-ins, exposure to harmful 

gases, and accidents as risks, but equipment 

failure is not mentioned.

SOLUTION IS C

CONCLUSIONS 

Q6: The resources they extract are essential for 

global industries.

 The paragraph mentions that mining provides 

critical resources for industries, which motivates 

miners to continue working despite the dangers.

SOLUTION IS B

CONCLUSIONS 

Q7: Sentence V

 Sentence V introduces a speculative idea about 

mining resources, which disrupts the logical flow 
of the paragraph that focuses on the scientific 
significance and exploration of the moon.

SOLUTION IS D

Q5:  Which of the following is not mentioned as a 

risk miners face? (5 points)

 

A) Cave-ins

B)  Exposure to harmful gases

C)  Equipment failure

D)  Accidents

Q6: What is one reason miners continue to work 

despite the risks? (6 points)

A)  They are required to do so by law.

B)  The resources they extract are essential for 
global industries.

C)  They enjoy working in dangerous conditions.

D)  They are paid a lot of money for their work.

Q7:  

 The moon has been a source of fascination for 

humans for centuries. II. It orbits the Earth and 

affects many aspects of life, such as tides and 

night lighting. III. Scientists have studied the moon 

extensively to learn about its formation and its im-

pact on Earth. IV. In recent years, space missions 

have been launched to explore the moon’s surface 

and gather data. V. There are also theories that 

suggest the moon may contain valuable resources 

that could be mined for future space exploration. 

VI. Despite all these studies, the moon still holds 

many mysteries that scientists have yet to fully 

understand. 

 Which sentence ruins the paragraph from      

becoming a well-structured paragraph? 

 (7 points)

A) Sentence I

B)  Sentence II

C)  Sentence IV

D)  Sentence V

The resources they extract are essential        
for global industries. (7)


